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Why babies all over the world are now sleeping in boxes 

3 Finnish fathers have set up a  
business to supply baby boxes  
to customers all over the world. 

Swiss voters reject basic income plan 

Swiss voters have rejected a proposal to introduce a  
  guaranteed basic income for  
  all. 

Student loan payback petition tops 100 000 
Government plans to freeze the salary threshold at  
which graduates must  
start paying back will  
result in 2 million  
students paying back  
an extra £306 per  
year. How much extra  
will these students  
have to pay per month? 

A typical box is cuboid  
in shape and measures  
70 cm, by 42·8 cm, by  
27 cm. 

EUROPE 

A wage of 2500 Swiss francs  
per month was suggested for  
adults. 

The current exchange rate is  
£1 = 1·39 Swiss francs. How  
much is this in pounds & pence? 
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What is the volume of   
a baby box to 1  
significant figure? 

Top Gear audience drops by 
a third on second episode 

The first episode in the series  
was watched by an average of  
4·5 million views. 

This number dropped by a third  
   for the second  
   episode. 

What was the  
average number  
of viewers for the  
second episode? 

Cristiano Ronaldo first footballer  
to top Forbes rich list of highest 

earning athletes 

ENTERTAINMENT 

SPORT 

Cristiano  
Ronaldo has earned a whopping  
$88 million in the past 12 months.  
How much is this per hour? 


